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In which of the following dance styles, the Ram-Ravan war, Jatayu vadh, Ravan-Mandodari
dialogue and Nal-Damayanti’s story are mainly depicted?

(A) Kuchipudi (B) Manipuri
@ xathakali (D) Kathak

Which of the pairs of festival and State/Union Territory, related to new year is not correct?
(A) Ugadi (Ugadi or Yugadi ) — Karnataka, Andhra Pradesh

(B) Gudi Padawo — Maharashtra

(C) Navvarih Thal or Navreh — Jammu and Kashmir

@) Mithila Day - Uttar Pradesh

What is the name of Kakasaheb Kalelkar’s autobiography?
(A) Smaransanhita (R42014[8qL)

(B) Himalayno Pravas ([3uau-l uaix)

.Smaranyatra (%HQ'QMM[)

(D) Jivan Vyavastha (a- caciz1)

The world famous “Templeton Prize for Progress in Religion” was awarded to which of the
following Indian philosophers in 1997?

(A) J. Krishnamurti .Shri Pandurang Shastri Athavale
(C) Dr. Sarvapalli Radhakrishnan (D) Dada Dharmadhikari

Popular songs like ‘Lakh Lakh Divdani Arati’ and ‘Mare Te Gamade Ek Vaar Avajo’ are from
which Gujarati film?

.Ranakdevi (B) Jesal Toral
(C) Manorama (D) Akhand Saubhagyavati

Which has been finally declared as the 15™ Intangible Cultural Heritage by UNESCO in the list of
Intangible Cultural Heritages of the world?

(A) Ramlila (B) Chhau dance, Odisha
.Tradition of Garba, Gujarat (D) Durga Puja, West Bengal

Recently traditional handicraft of Gujarat have been given GI tag. Among which of the following
families/communities are associated with preserving the cultural heritage of ‘Surat Sadeli craft’ ?

(A) Meghwal and Mara community
.Petigara families

(C) Sujniwala, Chistia and Mia Mustafa family
(D) Chhipa-Muslim community
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008. South African traveller Ibn Battuta came to India during the reign of
(A) Humayun (B)Akbar
@& Vuhammad bin Tughlaq (D) Alauddin Khilji

009. Who was the composer of the musical treatises on ragas named ‘Miyanki Todi’, ‘Miyanki Malhar’,
and ‘Darbari Kanhada’?

@ ransen (B) Bismillah Khan
(C) Ustad Isa (D) Raskhan

010. Which of the following Vedas is composed both in prose and verse?
(A) Rigveda .Yajurveda
(C) Samaveda (D) Atharvaveda

011. Who among the following presided over the Buddhist Council held during the reign of Kanishka -
at Kashmir?

(A) Mahakashyap (B) Nagarjuna
(C) Sudraka .Vasumitra

012. Who among the following was appointed by Ashoka to administer justice in his empire?

(A) Sharmana (B) Kumar Amatya
(C) Rajuka .Uparika
013. The Ilbert Bill controversy during Lord Lytton’s period related to the concept of
.Judicial equality (B) Political representation
(C) Economic Justice (D) Revenue allocation

014. Which of the following satyagraha made Vallabhbhai Patel known as ‘Sardar’ across India?

(A) Nagpur Jhanda satyagraha (B) Dharasana satyagraha
.Bardoli satyagraha (D) Borsad satyagraha
015. Which of the following plains region of Gujarat includes ‘Godh’ and ‘Vadhiyar’ Panthak?
(A) Plain of Central Gujarat .Plain of North Gujarat
(C) Plain of South Gujarat (D) Plain of Charotar

016. Which of the following statement(s) is/are correct?
1. The Rupen river originates from the Toonga Mountains in Mehsana
2. The Saraswati river is contained/merged in the great Desert of Kutch
3. Sabarmati river meets the sea at Kopali Bay
(A) Only 3 (B) 1 and 2 only
(C)1,2 and 3 @)1 and 3 only
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017. Which crop diseases are ‘Blast’, ‘Leaf Trap’ and ‘Galat Anjio’?

@raady (B) Millet
(C) Maize (D) Wheat

018. By which name is the outer Himalayas known?
(A) Himadri (B) Himanchal
@ snivalik (D) Greater Himalayas

019. What type of soil is formed by the decomposition of basalt rocks?
(A) Black soil (B) Basar land
(C) Calcareous soil .Regur land

020. Floating Islands are a distinctive feature of which lake in India?
(A) Nainital Lake (B) Pushkar Lake
@) oktak Lake (D) Chilka Lake

021. Which of the following North-Eastern states is not connected by land border with Bangladesh?
(A) Assam .Arunachal Pradesh
(C) Tripura (D) Mizoram

022. The idea of Fundamental Duties is derived from:
(A) The American Constitution
(B) The British Constitution
.The Russian Constitution
(D) The Constitution of Australia

023. Which of the following statements is incorrect?
(A) Area of any state can be increased
(B) Boundaries of any state can be altered
(C) Name of the state can be changed

.A state can be surrendered or transferred to a foreign governance

024. Cultural and educational rights include:
(A) Right of minorities to establish / administer their educational institutes
(B) Right of minorities to promote their language
(C) Right against discrimination for admission on grounds of religion, race, caste etc.

.All of the above
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Directive Principles of State Policy seek:

(A) to establish the supremacy of the Constitution

(B) to curb dictatorial tendencies

.to make the Constitution an instrument of social change

(D) (A) and (B) of the above

Fundamental Duties under Article 5S1A does not include:
(A) safeguard public property and abjure violence

(B) uphold sovereignty, unity and integrity

(C) abide by Constitution and respect its ideals

.Secularism

Which of the following subjects comes under the common jurisdiction of the Supreme Court and
the High Court?

(A) Mutual disputes among states
(B) Dispute between Centre and states
.Protection of the Fundamental Rights

(D) Protection from the violation of the Constitution

In the context of election in India, which one of the following is the correct full form of VVPAT ?
(A) Voter Verifiable Poll Audit Trail

(B) Voter Verifying Paper Audit Trail

.Voter Verifiable Paper Audit Trail

(D) Voter Verifiable Paper Account Trail

The 79" Amendments of the Indian Constitution is related to

(A) Centre-State relations

(B) Establishment of two political parties

(C) Fundamental Rights

.Reservation of SCs and STs in the Lok Sabha and State Assemblies

In the Gujarat Budget 2024-25 under which scheme 160 crores has been provided to support
4500 female students studying in medical?

(A) CM Yuvati Swavalamban Scheme
(B) CM Yashaswi Apprenticeship Scheme
(C) Namo Saraswati Yojana (scheme)

.Chief Minister Kanya Kelavani Nidhi Scheme
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Why is the 100% State Subsidized Scheme ‘Aapda Mitra’ devised?
(A) To assist disaster-affected communities and coordinating agencies
.To train community volunteers for effective disaster resilience
(C) Assisting a disabled person to benefit from a scheme

(D) Assistance and coaching for competitive exams to the student receiving the tablet

Which among the following states has highest sex ratio as per census of 2011?
.Tamil Nadu (B) Andhra Pradesh
(C) Karnataka (D) Odisha

Which is the apex organisation for Marketing Co-operatives at the national-level?

(A) FCI

@NarED

(C) National Co-operative Union

(D) National Agricultural Marketing Board

Sheqel/shekel is the currency of which country?

.Israel (B) Kenya
(O) Iran (D) Iraq
Debenture holders of a company are its .

(A) shareholders .creditors
(C) debtors (D) directors

Fiscal Policy in India is formulated by

(A) The Securities and Exchange Board of India
(B) The Niti Aayog

.The Finance Ministry

(D) The Reserve Bank of India

Which protocol provides e-mail facility among different hosts?
@smvtrp (B) FTP
(C) TELNET (D) SNMP
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Which of the following chemicals is useful in photography?
(A) Aluminium hydroxide (B) Potassium nitrate

@sitver bromide (D) Sodium chloride

The working of a rocket is based on which of the following principles?
(A) Electricity (B) Kepler’s Law

(C) Newton’s Law .Conservation of momentum

Which is the system used to eliminate prostate cancer, brain tumor and uterine cancer?

(A) Arsenic-74 .Brachytherapy -

(C) PET therapy (D) Chemotherapy

Where is INSET meteorological data processing system installed?
.New Delhi (B) Bangalore

(C) Chennai (D) Hyderabad

Which portal has been launched to promote indigenization of defence products?
(A) SMART (B) SACRED

(C) UMANG @sriiaN

What is the study of life in outerspace called?
(A) Endobiology @ rExobiology

(C) Lifeology (D) Spaceology

Where was the 7% India-France joint military exercise ‘X-Shakti’ 2024 held recently?
(A) Rajasthan (B) Uttarakhand

@ Vicghalaya (D) Odisha

Who has been awarded Veer Narmad Sahitya Gaurav Puraskar 2024 by Gujarat Vishwakosh?
(A) Kundanika Kapadiya .Varsha Adalja

(C) Dhiruben Patel (D) Sharifa Vijliwala
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A USIRAL AL LA 500 ALHAL 3L 100 212 69 247 B USIRAL ULl G 400 A1HAL 3L 160 9. A sle
ANSIRAL el 750 AH 241 B U1+ el 250 H WS dl dA g& Sedl 254 ysadl ugal?

@3 250 (B) 3L 330
(C) 3L. 350 (D) 3L. 260

s A1 ol2uMi 1AL BH) [Qeauig] 4l udl 20241 50 calsaztid 20 [Eax il 69. 4 AL (331 [zaiwidl
80 S ALl uxdl 2 s2an [Bax ai?

(A) 200 [2ax (B) 100 [2ax
@>0 Bau (D) 25 Rax
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046.

047.

048.

049.

050.

051.

052.

What is the objective of India's Mission ISHAN?
(A) Rise in sea-level

.Implementation of ‘One Nation, One Airspace’
(C) Centralization of railway operations

(D) Extending internet connectivity across the country

Which of the following countries has introduced an Al-generated spokesman named Victoria Shi

for the ministry of External Affairs?
(A) Russia (B) China
(C) Israel .Ukraine

Which annual fair is held in monsoon at the Kamakhya Devi temple in Guwahati, Assam?
(A) Magh Bihu or Bhongali Bihu Mela

(B) ‘Rongali’ or ‘Bohag Bihu’ Mela

.Ambubachi Mela

(D) Majuli Festival Fair

Where will be held the Badminton World Federation (BWF) World Junior Badminton
Championship 2025?

(A) Itanagar (B) Ranchi
(C) Bhubaneswar .Guwahati

Who has been appointed as the Chairman of GST Appellate Tribunal (GSTAT)?
.Sanj aykumar Mishra (B) Narsinh Pancham Yadav
(C) Justice Dinesh Kumar (D) Justice M. N. Bhandari

Half kilogram of snack A costs Rs. 100/- and 400 gm of snack B costs Rs. 160/-. If Bela purchases
750 gm of A and 250 gm of B, what amount is she supposed to pay?

@rs. 250/- (B) Rs. 330/-
(C) Rs. 350/- (D) Rs. 260/-

In a tea estate, it takes 20 days for 50 people to pluck tea leaves from a square kilometer area. Find

the time taken by 80 people to pluck tea leaves from 4 square kilometer area.
(A) 200 days (B) 100 days

@0 aays (D) 25 days
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053.

054.

055.

056.

057.

058.

059.

oY A\

SIS 2s AlssA yRlivai 17 auHidll 6 oue s394 dl d o yelivaril adtell 1id ol Ava wd di d
yeival 2Lyl
@): (B) 3

©-2 (D) 4

gl X 0l Gu du-t €15 Y UL %1 24Ul UL 29 a8l 3t dHAL WAL Z 1L %4 24Ul AR 57 a sl
1R gluin Y il GHR 48 anl Sl i ARl s sl X, sl Y 2 sllain Z Al GHrel & araml
24l

(A) 134 ad (B) 137

(C) 146 @145

AL Alus drumini e g2 ad 2°C L e8] AlIRL oAl MOl 8. A adl 2000 § U2 duHIA 27.32°C
S dl Ay 20247, U312 dluHA 524 27

(A) 31.32°C (B) 31.40°C

(C) 31.36°C @)32.12°C

20ydH 2A[Zul 8 uiesL 5l avid s 3, 4 21 5 2l 4R1dd] AR RHa yAR s Ul 9. [Rona
NS el HI2 s 36, 25 Ul 20 As=3 W2 YA 8. wyd- 83 ugiadl YUl Hean sean uxy yHl
A Adl usal?

@) Rz 47 Asw (B) 1 BR2 21 Ass

(C) 5 M2 8 As~s (D) 2 [(AlAR2 27 As~s

A2 B 518 25 [l 22l uldidl 152 23 52 9. A d-ll siefl suogat 2 (33 el el G [Baumi
3 [34lg 2R 510 69, uR B el [Roni 4 (34 el d-l 316l sucgat 2 (3l 242 s 6. du-u
2i[du 22 a2 2idR lkl?

(A) 1A @ G0

(©) 534 (D) il st )

20 el vied ue 2kl

P-1, _ , R-27, S-256, T-3125

(A) Q-8 (B) Q-2
(C) Q-6 @4

A 2008 vy 12 [AlZad wislds Avan 2uuami 2uda o,
“Save Precious Water” - 347

“Water means Life” - 675

“Life is Precious” - 614

UAR Yo “Save Precious Life” W2 58 Ais[ds dvan i as?

@43 (B) 716
(C) 754 (D) 647
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053.

054.

05S.

056.

057.

058.

059.

Seven times square of an integer is same as six times taken away from seventeen times the same
integer. Find that number.

@): (B) 3

©-2 (D)4

Mr. X was 29 years old when his son Mr. Y was born and was 57 when his grandson Mr. Z was
born. What is the sum of their ages when Mr. Y is 48 years old?

(A) 134 years (B) 137 years

(C) 146 years @) 145 years

The average global temperature is known to rise at the rate of 2°C/decade. If the mean temperature
in the year 2000 was 27.32°C, what would be the average temperature in 2024?

(A) 31.32°C (B) 31.40°C
(C) 31.36°C @)s2.12°C
While travelling from office to home, Apurva is required to cross 3 traffic signals with 3, 4 and 5

sides each that turn green for 36, 25 and 20 seconds respectively. Find the maximum waiting time
for Apurva to reach home.

.3 min 47 sec (B) 1 min 21 sec
(C) 5 min 8 sec (D) 2 min 27 sec

A and B start from a common point. A moves 2 km left and then 3 km north, whereas B moves
4 km south and then turns left up to 2 km. Find the distance between their final positions.

(A) 1 km @7 xm
(C) 5 km (D) Can’t be determined

Find the missing element in the following series:

P-1, _ , R-27, S-256, T-3125

(A) Q-8 (B) Q-2
(€) Q-6 @+

In a certain code,

347 is “Save Precious Water”,

675 is “Water means Life”

614 is “Life is Precious”

Then what will “Save Precious Life” be decoded as?
@43 (B) 716
(C) 754 (D) 647
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060.

061.

062.

063.

064.

065.

AA+BeAld O 5 A, BUNRAWY, AxBeald®d 5 A, Bl eud ¢ 214 AoBeld © 5 A, Bl wiat .
dl P x T + K Hi2 12 2uud [Qseuinigdl sui [asey i oial?

A K, Tuar e, (B) T, K il {1 €9,
@r. x uas. (D) P, K UL 5151 8.

Al 2004, AvA1240A AHE A9 U2-061 Al U81-063 1L BT VUL,
293 637 485 769 382

o U AvAAAL Bisi A3ALsHUIL 6] Ad) {val srrilquml 20d dl Wy L YR+l v 59 vl
uRd) 61m9l?

(A) 637 @55

(©) 769 (D) 382

20 £35 Avaiiui Aledl Hiel A4 2isd 2 a3 cuorl sidl Adl dvaizimidl Al Al 0va 55 ya
Avauidl oirel?

@37 (B) 382

(©) 293 (D) 485

s 061 WAL ol Adl {viinid]l Al Widl v 244 Al Al 4va-l dstad ikl
(A) 440 @441

(C) 220 (D) 531

uddl 80 6isl wslas Avari-l uavl wHl?

@430 (B) 6482

(C) 6560 (D) 6540

§ndl 284 drzugld vedea, Ald x4 Helldsumi xeu sl [Qendflai-Al Qv sald 8.
U24-0654l U21-068 21 A-i2ALsld uR 2utlRd 8.

2 YWA
S

/)
T

2i2luat AU AU 2 oid [uaHl xeu sl [@Qenefla udg HeildsuHl 20 4 sl Sl da
(denelli-l 2iveun 2kl
(A) 97 (B) 82

(C) 94 @)s-
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060. If A + B denotes “A is B’s father”, A x B denotes “A is B’s brother” and AoB denotes “A is B’s
mother”. Then which of the following is true for P x T + K?

(A) Kiis T’s father (B) T is K’s mother
.P is K’s father (D) Pis K’s uncle

%  Consider the numbers listed below and answer Q.No. 061 to Q.No. 063.
293 637 485 769 382

061. If all the digits in each of the given numbers are arranged in ascending order within the number,
which number will give the middle number?

(A) 637 @455
(©) 769 (D) 382

062. If the largest even digit in each of the numbers is divided by 2, the smallest number so obtained is
from the number .

@37 (B) 382
(©) 293 (D) 485

063. As per the formation of numbers in Q.No. 061 above, the difference between the highest and the
least number is:

(A) 440 @441
© 220 (D) 531

064. Find the sum of first 80 even natural numbers.
@430 (B) 6482
(C) 6560 (D) 6540

%  The given Venn diagram represents the number of students studying Economics, Mathematics
and Psychology. Answer Q.No. 065 to Q.No. 068 from this Venn diagram

/»
ava

Psychology

Economics
Maths

065. Identify the number of students who study Economics or Mathematics or both but not Psychology.
(A) 97 (B) 82

(C) 94 @)s-
[BIN] [P.T.O. m
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066.

067.

068.

069.

070.

071.

072.

073.

2LARA 24 HAL[AsuA oin [Quanl 2101 $240 [Qenedl2ai-) v ik,

(A) 15
(C)27

=

&os

(D) 30

WAL 2is o [ANUHL 200 s [QendlAiL 20w 24l

(A) 47
(C) 25

ML 24191 6 [Quarl e 5241 [Qendli-D v aidl.

&)s-

(C) 10

SUS L 61 Av1AL B IRUSIR 300 SIA L AL AL dFlad Rl Sl d-il A0l 2

(A) 40
(C) 37

(B) 10
@)s-

(B) 47
(D) 87

@35

(D) 33

422.323 - 0| [3HAM s 22 -l 2is wal?

(A4

©-

B)1
(D)3

0?

s dvaid 84 a3 @wodl 28 AN WAL B, A d % AvA 14 21 21 A3 MRLAHE 2Ud dl xUgsH 52l

AN HU?

&o 17

(C) 2 1 4

2UA YuieHi 58 dvul vidl 97
0,1,7,19, 36, 61,91
(A) 19

(©) 61

-

20A Yuie yal 53U
8, 16, 48, 192,
(A) 576

@960

(B) 0 A1 2

(D) 131 2

@36

(D) Buisd 4L WS 245y Al

(B) 768
(D) 1920
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066.

067.

068.

069.

070.

071.

072.

073.

Find the number of students who study both Economics and Psychology.

(A) 15 @os

©) 27 D) 30

Find the number of students who study only one subject.

(A) 47 (B) 10
(C) 25 @)

How many students study at least two subjects?

&s- (B) 47

(C) 10 (D) 87

Find the sum of two numbers, whose product is 300 and the difference is minimum.

(A) 40 @35
©37 (D) 33

Find the digit at hundred’s place in the value of 422.323
(A)4 (B)1

@~ (D)3

A number when divided by 84 leaves a remainder of 28. Find the remainders in order when the

same number is divided by 14 and 21.
@o ana 7 (B) 0 and 2
(C)2and 4 (D)1 and 2

Identify the wrong number in the given sequence:
0, 1, 7, 19, 36, 61, 91

(A) 19 @30

© 61 (D) None

Complete the given sequence:

8, 16, 48, 192,

(A) 576 (B) 768
@960 (D) 1920
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074.

07s.

076.

077.

078.

079.

080.

A [Aseuinisdl werud Rimequ 224 sul [Asey il oia?

(A) 96 @0
(©) 28 (D) 63

steutefl Al 18+ ol L2 521 HIZEL . yon il 52 Al €9 ug srendl {6, dl 21 e9isA2AHiE)
steL Alell HIl 4 s ALl Al 9159 wal?

(A) 20l 244 yon (B) St A AR

@vul 211 2l (D) Yo 1A AR

A8 25 [Ald 254 U 200a g €3 3 arl uedl Ag e A1 31 777/- HOL O 244 5 arl uedl AEL
A2 31. 795/- HUL €9, YU 54 WAL

@:.. 750- (B) 3L. 745/-
(C) 31 725/- (D) 3. 760/-

25 2ld) 31 32,000 Wi v, % d-l [BHani €2 al 5% L €2 Aaqer Ad, Sl dl AR ay ugd) Eldl-L
[(ZHa sedl i?

(A) 3L. 27,576/- (B) 3L. 28,000/

(C) 3\. 28,880/- @s.. 27.436/-

Y N\ oY

25 Uil 516 245 Agr 3L 11,500/- Hi A dl dl 8% 1 s A 8. %A d A, UR A 8% il SIUEL
ATl S1U dl A8l d AdA 3¢l [Bud dadl ASA?

@:.. 13,500/ (B) 3L. 12,420/

(C) 3L 14,000/- (D) 3L 13,600/-

A 518 agll usaR [BHd d-ll 2 BHda- 80% siu dl sl 2s1adlui lul?
(A) 20% @25
(C) 10% (D) 12.5%

o A6l 12, 15,7, 17, 9 24 x -l HeURY 13 814 dl x )L [(BHd 0801?
(A) 16 (B) 13
@4 (D) 2l as 4l
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074.

07s.

076.

077.

078.

079.

080.

Find the correct option that replaces the question mark:

(A) 96 @)oo

(C) 28 (D) 63

Kavya’s younger sister Bijal is elder than Rashi. Pooja is younger than Arya, but elder than Kavya.
Determine the eldest and youngest among them.

(A) Arya and Pooja (B) Kavya and Rashi

.Arya and Rashi (D) Pooja and Rashi

A sum of money at a given rate of simple interest amounts to Rs. 777/- in 3 years and to Rs. 795/- in
5 years. The sum is:

@rs. 750/- (B) Rs. 745/-
(C) Rs. 725/- (D) Rs. 760/-

A television was bought for Rs. 32,000/, its value gets depreciated by 5% per annum. Find the
value of the television after 3 years.

(A) Rs. 27,576/- (B) Rs. 28,000/-
(C) Rs. 28,880/- @rs. 27,436/

A dealer bears a loss of 8% if he sells an article for Rs. 11,500/-. At what price must he sell so as to
gain 8% on that article?

@rs. 13,500/ (B) Rs. 12,420/-
(C) Rs. 14,000/- (D) Rs. 13,600/-

If the cost price of an article is 80% of its selling price, what is the percentage of profit?
(A) 20% @25
(C)10% (D) 12.5%

If the median of 12, 15, 7,17, 9 and x is 13, find the value of x.
(A) 16 (B) 13
.14 (D) Can’t be determined
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081.

082.

083.

084.

ol 236l 2l Siu dal [Aseu uRie s2l.

@) v, Gaoufa, wylsn, olgH
(B) ted[@uin, G, uylgan, oyfgard
(C) ~ue[®aun, GouHldl, uylgan, oyf&Hd
(D) neultA, Gaoul, uylgan, oyfgad

A 2uuai o Lud A w-udl aoel (A9l aioy [Asey uie 53U,

1. i%0L, F4El, B2, dd

2. [Add, [Aaa, [Qzdag, ey

3. A-llas, waedl, vieudl, yrwa

4. ASWeIR, [Auaun, [Asiun, AR

(A) $5d 1211 2 Uidu 89, (B) $5c 3 2 4 U12Y 89,
(C) $5d 1, 34 4 QU . @): 5 127 4000 .

N

A2 2udai o 2un ag (gl aoel [Qal aioy [Ase uris s,
1. 2US121 X ASRA

2. ASIRA X WUASIRA

3. @=L x a2l

4. x1[d x ERdAIR

(A) $5d 2 U190 69,

(B) $5c 2 24+ 3 U1y 89,

(C) $5d 2, 3 2 4 U1y 89,

@1, 2, 3217 4o wou 8.

A2 2uuan 3leuUiol 244 d- el e didu [Asey urie 53U

3(enaia x1Y
1. 931 9Ll vl = Rdoiy dldl Aumal
2. 99l vt = [EHa g1l odl
3.830sandl = weAmg
4. 930l awndl = [y sl
(A) $5d 1, 2 2 4 1Y 89, (B) $5c 1 24 4 U12Y €9,
@1, 2,3 1 4 dou B, (D) $5d. 1, 3 21 4 Aoy O,
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N

085. 11 21Ul seadiq i 4 d-u [asi i [Asey uaie s
1. i oAgll A 25 sisll
2. Q{31 Y A Al
3. Al 5153 s sisA Al
4. v1™Ma GrH Qe ©.
(A) 2 211 4 qu-ul sadi 8, 1 4 3 [Qgil sdadl ©.

(B) 1 24 2 ant-uedl s8adi 9, 2 244 4 [Qgiell s8adi 9.

@1 >t 4wl s8adl B, 2 211 3 [Avgiedl sdadl 8.

(D) 1 2 3 AH-uell s8adi 69, 1 214 2 [Qgiell s8adi 8.

086. 1A 2uual WHUAS Aot 21 d-i usIR (A9 uioy [Asey urig 2.

amlas ave - USSR

1. Rddaz -l ayu

2. el - agdl deya

3. ApuE - Wl deyu

4. $aRMa - (gl acyn

(A) $5d 1211 3 Uidu 89, (B) $5 2 2+ 3 U12Y 89,
@:s11, 2213008, (D) 1,2, 3 1A 4 61t % 1oy, .

087. -l >uudl 2004 (gl Al [Aseu ue sl
1. 28 + Gl = x4l el
2. a + SRell = W@Rel
3. Yo + Ul = Yeulat
4. A+ [Hg = x1[dg
@55 1273 2 8. (B) $5d 1914 3 L 8.

(O) 1,2, 3211 4 6181 % 1L 69, (D) 1, 2, 3 21 4 6181 % wii2L 69,
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088.

089.

090.

091.

=

A2 20l Gelsm U A AE 51270 USRI U1y [Asey yie 53U,

1. drflaiat sagiz sul eud, qrdld 320 3wil,
saefl @S il w3l 2u adad gl
2. @l s Hidl Hivlaw yrd olg,
e1g2 %+l Uls U Ml [ARid.
3. o0 v2d 20l 21 dl ge vedl esial,
4. 23 3, 512131 edla @l vl !
(A) 1. e, 2. a4, 3. waisd, 4. 3us
. 1. ¥@aRuRl, 2. }@cudildd, 3. [Qimeux, 4. [Qun
(C) 1. uRULL, 2. Guny, 3. vy, 4. [Aun
(D) 1. vicugd, 2 .2asudlsd, 3. x11au, 4. [Qun

A2 200l s1u-Ul3dn 2un A 2idL e sl 4oy [Asey yie s2.

1. %1l Wl Avll aglls Ao, Au wa ), Gla ou .
53 4o [R5 ud @, ag yasA ¢ Rl

2. “UEL 58 Al dHl HEE €l 261 ™ML

3. [siag sud ed gHRA, 125 vt (A a-urd
Ul g (AN uiopu, avll [BA Suglunql s’

4. ‘(A 2un A dawual’

@1 yPua, 2. alag, 3. dasa, 4. €lus

(B) 1. AdAL, 2. A2HR, 3. R, 4. San

(C) 1. yRudiau, 2. WoHRL, 3. da, 4. Gugaon
(D) 1. wgaldll3q, 2. AoHR, 3. daR, 4. SwaAn

A [Qo1diq g 4 dloy [Asey uaie s2U.

1. 32Ul 42 = Qleadl o SRadl =y 2al

2. [Qgidl ase @ qaAn x %3

3. el 208 ¢ g =wdl

4. 9% : Wetsidl — ‘aeal ad (Al asan sid wmed .’

(A) §5c 1947 2 i 8. @5 1 27 4w 8.
(C) $5d 1, 3 ¢ 4 1201 89, (D) 55d. 4 W4 9.
Mind your own business. The adjective in the sentence is

(A) mind (B) your

.own (D) business
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092.

093.

094.

09s.

096.

097.

098.

099.

100.

He could not speak a sentence in English. (Add question tag)
(A) Couldn’t he? @ could he?
(C) Would he? (D) Can’t he?

by hunger, he stole a piece of bread.
(A) Driving (B) Had driven
(C) Drove .Driven

Does the society respect you? (Change the voice)
.Are you respected?

(B) Are you being respected?

(C) Are you not respected by the society?

(D) Do you get respected by the society?

Nishit is the tallest boy in the class. (Change into positive degree)
(A) Nishit is as tall as any other boy in the class

(B) No other boy in the class is taller than Nishit

.No other boy in the class is as tall as Nishit

(D) No other boy is tallest in the class

I have only friends.
(A) few .a few
(C) alittle (D) many
of the two men strong.
.Neither /is (B) Each / is
(C) Either / are (D) Everyone / is
The true gentleman is courteous and affable his neighbours.
(A) of @0
(C) about (D) at
By the time I reached the airport, the flight .
(A) took off (B) has taken off
.had taken off (D) takes off

Find out the sentence with adjective.

(A) The boy was punished

.The lazy boy was punished

(C) The boy was not punished but praised
(D) The boy was punished as well as praised

[BIN] [PT.O.
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101.

102.

103.

104.

105.

106.

107.

What is entropy?

(A) Entropy is a measure of the network done by a system

(B) Entropy is a measure of the heat transfer of energy into a system
.Entropy is a measure of the disorder of a system

(D) Entropy is a measure of the potential energy of a system

It is impossible to construct a device which, operating in a cycle, will produce no effect other than
transfer of heat from a cooler to a hotter body. This is:

(A) Kelvin statement .Clausius statement
(C) Planck statement (D) Conservation of energy

During throttling process:

(A) pressure does not change

(B) internal energy does not change
(C) entropy does not change
.enthalpy does not change

If temperature of the source is increased, the efficiency of Carnot engine

.Increases

(B) Decreases
(C) Remains Constant

(D) First increases and then becomes constant

A Carnot engine works between the temperature 227° C and 127° C. If the work output of the

engine is 10* J, then the amount of heat rejected to the sink will be:
(A)1x10*J (B)2 x 10*J
@+~ 100y (D)5 x10*J

110 joule of heat is added to a gaseous system, whose internal energy is 40 J. Then the amount of
external work done is

(A) 150 J &0
©1o0J D)40J

The heat absorbed or rejected during a polytropic process is

2
HALLY 9 work done (B) ALY work done
y—1 v—1

12 3
©) (Y _ nj x work done D) (%} x work done
y—1 y—
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108.

109.

110.

111.

112.

113.

114.

115.

An isentropic process is always
(A) irreversible and adiabatic
(B) reversible and isothermal
(C) frictionless and irreversible
.reversible and adiabatic

If dry saturated steam is admitted to a steam turbine following an isentropic process, at the exit of
the turbine, it will be a

(A) Superheated steam (B) Dry saturated steam
(C) Liquid condensate .Wet steam

The ideal cycle on which steam engine works is

(A) Carnot cycle .Rankine cycle

(C) Otto cycle (D) Joule cycle

In adiabatic expansion of a system in which its temperature changes from a value T, to T, the
entropy will

(A) Increase
(B) Decrease
.Remain unchanged

(D) May increase or decrease depending upon the ratio T /T,

CRYOGENICSis

(A) A type of tank

.Study of materials and phenomena at low temperature
(C) Study of radioactive elements

(D) None of these

In a steam power plant, the enthalpy of steam at the inlet and outlet of steam turbine in the
Rankine cycle are 4000 kJ/kg and 2500 kJ/kg, respectively. Neglecting the pump work, the steam
consumption rate (in kg/kW h) will be

@):.4 (B) 1.5 ©)3 (D) 4.5

A cycle consisting of two constant pressures and two isentropic processes is known as
(A) Carnot cycle

(B) Stirling cycle

(C) Otto cycle

.Brayton cycle

Thermal conductivity of solid metals with rise in temperature normally

(A) Increases .Decreases

(C) Remains constant (D) Unpredictable
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116.

117.

118.

119.

120.

121.

122.

Heat transfer takes place as per
(A) Zeroth law of thermodynamics
(B) First law of thermodynamics
.Second law of thermodynamics
(D) Kirchhoff’s law

In convection heat transfer from hot flue gases to water tube, even though flow may be turbulent,
a laminar flow region (boundary layer of film) exists close to the tube. The heat transfer through

this film takes place by

(A) Convection

(B) Radiation

.Conduction

(D) Both convection and conduction

The rate of energy emission from unit surface area through unit solid angle, along a normal to

surface is known as

(A) Emissivity (B) Transmissivity
(C) Reflectivity .Intensity of radiation

A grey body is one whose absorptivity

(A) Varies with temperature

(B) Varies with wavelength of the incident ray
.Is equal to its emissivity

(D) None of the above

Fourier’s law of heat conduction is valid for
.One dimensional cases only

(B) Two dimensional cases only

(C) Three dimensional cases only

(D) Irregular surfaces

Joule sec is the unit of

(A) Universal gas constant
(B) Kinematic viscosity
(C) Thermal conductivity
.Planck’s constant

The thermal diffusivities for gases are generally
.More than those for liquids

(B) Less than those for liquids

(C) More than those for solids

(D) Same as for liquids
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123.

124.

125.

126.

127.

128.

129.

Thermal diffusivity of a substance is

(A) Directly proportional to thermal conductivity
(B) Inversely proportional to density of substance
(C) Inversely proportional to specific heat

.All of the above

Heat transfer by radiation mainly depends upon
(A) Its temperature
(B) Nature of the body

(C) Kind and extent of its surface

.All of the above

For a given set of operating pressure limits of a Rankine cycle, the highest efficiency occurs for
(A) Superheated cycle (B) Reheat cycle
.Regenerative cycle (D) Saturated cycle

The work ratio of a gas turbine is a function of
.temperature ratio and pressure ratio

(B) temperature ratio

(C) pressure ratio

(D) None of the above

The dimensionless numbers used for analyzing the transient heat conduction problems in a
plane wall, cylinder and sphere is

(A) Nusselt Number and Fourier Number
(B) Reynolds Number and Biot Number
.Biot Number and Fourier Number
(D) Nusselt Number and Biot Number

The time required by a thermocouple to reach its 63.2 per cent of the value of initial temperature
difference is called its

(A) thermocouple junction
.sensitivity
(C) change in temperature

(D) response of thermocouple

A sphere, a cube and a disc, all of the same material, quality and volume are heated to 900 K and
left in air. Which of these have the lowest rate of cooling?

(A) Cube (B) Disc
.Sphere (D) All will have the same rate of cooling
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130.

131.

132.
133.

134.

135.

136.

The forced convection heat transfer coefficient of a plate depends on which of the following?

(A) gravity

.velocity and conductivity of fluid
(C) conductivity of plate material
(D) Resistivity of plate material

Ratio of convective mass transfer to the mass diffusion rate is called
.Sherwood number

(B) Schmidt number

(C) Rayleigh number

(D) Strouhal number

Stoke is the unit of
(A) mass density .kinematic viscosity
(C) viscosity (D) velocity gradient

The resultant hydrostatic force acts through a point known as
(A) centre of gravity (B) centre of buoyancy
.centre of pressure (D) None of the above

The Bernoulli’s equation can take the form

P
+—+ Z = constant
rg 2g

P v
(B) — +—+ 2z = constant
rg 2

2

P v
(C) — +—+z = constant
pg 8

P v
(D) — t+—+Z = constant
pg g

The formation of vapour and air pockets in liquid results in phenomenon called:

(A) Erosion .Cavitation
(C) Turbulence (D) Whirling

For the laminar flow through a circular pipe

(A) the maximum velocity = 1.5 times the average velocity
.the maximum velocity = 2.0 times the average velocity
(C) the maximum velocity = 2.5 times the average velocity
(D) None of the above
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137. The loss of head due to sudden expansion of a pipe is given by

.hL _ (v —v,)* ®) Iy, = v _Vz2
2g 2g
2 2
(©)h, = 0.5v, D) h, = 0.5v,
2g 2g

138. For a viscous flow through circular pipes, certain curves are shown in Fig. 1, curve B is for

VI [>T

N7 )
( (

Fig 1

.shear stress distribution
(B) velocity distribution

(C) pressure distribution
(D) None of the above

139. The overall efficiency of a turbine is the ratio of
(A) Power at the inlet of turbine to the power at the shaft
(B) Power at the shaft to the power given to the runner
.Power at the shaft to the power at the inlet of turbine
(D) None of the above

140. The unit discharge (Q ) and unit speed (N ) curves for different turbines are shown in Fig. 2.
Curve A is for

=
o
2, C
=
S
2| A
%1
=
5 B

— N, (Unit speed)
Fig 2
(A) Francis Turbine (B) Kaplan Turbine
.Pelton Turbine (D) Propeller Turbine
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141.

142.

143.

144.

145.

14e.

147.

148.

Hydraulic coupling is a device used for
.transmitting same torque to the driven shaft

(B) transmitting increased torque to the driven shaft
(C) transmitting decreased torque to the driven shaft
(D) None of the above

The flow of water, leaving the impeller, in a centrifugal pump casing is
(A) Forced vortex flow

.Free vortex flow

(C) Centrifugal flow

(D) Radial flow

Moderator in nuclear plants is used to
(A) Reduce temperature
(B) Extract heat from nuclear reaction
(C) Control the reaction

.Cause collision with the fast-moving neutrons to reduce their speed

Electron-volt is unit of

(A) Atomic power .Energy

(C) Voltage (D) Radioactivity
Which of the following can be used as a coolant in nuclear plant?
.Light or heavy water (B) Molten lead
(C) Carbon dioxide (D) Freon

Carbonisation of the coal is the process of

(A) Pulverizing coal in inert atmosphere

(B) Heating wood in a limited supply of air at temperature below 300° C

.Strongly heating coal continuously for about 48 hours in the absence of air in a closed vessel

(D) Enriching carbon in the coal

The coal requirement per kW hour generation in the thermal power plant is of the order of
(A) 0.1 to 0.2 kg (B) 0.2 to 0.4 kg
@o.6t0 0.8 kg (D) 1.0 to 1.5 kg

Locomotive type boiler is

(A) Horizontal multitubular water tube boiler
(B) Water wall enclosed furnace type

(C) Vertical tubular fire-tube boiler
.Horizontal multitubular fire-tube boiler
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149.

150.

151.

152.

153.

154.

158.

156.

Lancashire boiler is of

(A) Stationary fire-tube type
(B) Horizontal type

(C) Natural circulation type

.All of the above

The impurities are removed from the boiler with the help of

(A) stop valve
(C) safety valve

.blow-off cock
(D) fusible plug

The gas in the cooling chamber of a closed cycle gas turbine is cooled at

(A) Constant volume

(C) Constant temperature

Intercooling in gas turbine results in

.Constant pressure
(D) None of these

.Increase in net output but decrease in thermal efficiency

(B) Increase in thermal efficiency but decrease in net output

(C) Increase in both thermal efficiency and net output

(D) Decrease in both thermal efficiency and net output

In vapour compression cycle, the condition of the refrigerant before entering the compressor is

(A) Saturated liquid
(C) Superheated vapour

(B) Wet vapour
.Dry saturated vapour

Critical temperature is the temperature above which

.A gas will never liquify
(B) A gas will immediately liquify
(C) Water will evaporate

(D) Water will never evaporate

A diesel engine has a compression ratio of 16 and cut-off takes place at 6% of the stroke. What will

be the cut-off ratio?
A) 1.5
(©)25

@0

(D) 2.9

Knocking tendency in a SI engine reduces with increasing

(A) Compression ratio

(C) Supercharging

(B) Wall temperature
.Engine speed
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157.

158.

159.

160.

161.

162.

163.

An ideal gas with heat capacity ratio of 2 is used in an ideal Otto cycle which operates between
minimum and maximum temperatures of 200 K and 1800 K. What is the compression ratio of the

cycle for maximum work output?

(A) 1.5 (B) 2 ©: (D) 4

Stirling cycle has these processes

(A) Two reversible isobarics and two reversible isotherms
(B) Two reversible isobarics and two reversible isentropics
.Two reversible isochores and two reversible isotherms

(D) Two reversible isochores and two reversible isentropics

The air standard efficiency of the Otto cycle is

@n=1-r" & -
r
©n=1-—5 ®)n=1-+"
r

For same output, same speed and same compression ratio, the thermal efficiency of a two-stroke

cycle petrol engine as compared to that for four-stroke cycle petrol engine is

(A) More @ ess
(C) Same (D) None of the above

A four-stroke petrol engine theoretically operates on
.Otto Cycle

(B) Brayton Cycle

(C) Joule Cycle

(D) Bell Coleman Cycle

In a diesel engine, the duration between the time of injection and time of ignition is called
(A) Period of ignition

(B) Explosion period

(C) Pre-ignition period

.Delay period

Which of the following is not a type of excavating equipment?
(A) Bulldozer (B) Dragline
(C) Power Shovel .Crane
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164.

165.

166.

167.

168.

169.

170.

171.

In the context of an aircraft refrigeration cycle, what is the temperature of the air at the exit of the
cooling turbine in the absence of moisture condensation?

(A) Saturated temperature

.Dry air rated temperature (DART)
(C) Super-saturated temperature

(D) Dry air temperature (DAT)

The ideal gas-refrigeration cycle is the same as the
(A) Brayton cycle

.Reversed Brayton cycle

(C) Vapour compression refrigeration cycle

(D) Vapour absorption refrigeration cycle

Which of the following is NOT a component of the Bell Coleman cycle?

.Condenser (B) Compressor

(C) Cooler (D) Expander

If shafts are in parallel, then the angle of twist and torque, respectively, is:
(A)0=01 =02 and TI=T2=T @o=01+02and T=T1+T12
(©)6=01=02and T=T1+ T2 MD)0=01+02and T1=T2=T
Wet bulb temperature at 100% RH is dry bulb temperature

.equal to

(B) lower than

(C) higher than

(D) inverse of

Different quantities of moist air in two different states at constant pressure are mixed to get moist
air at 0.008 kg/kg of dry air. If specific humidity are 0.006 and 0.012 kg/kg of dry air which are
getting mixed, what is the ratio of mass flow rate of these air in which they are mixed respectively?

(A)4:3 @::1 (C)1:2 (D)3:2

The relative humidity of ambient air at 300 K is 50% with a partial pressure of water vapour
equal to P . The saturation pressure of water at 300 K is P_ . The correct relation for the air-water
mixture is

(AP =2P_ B)P =P
@r -osp (D) P =0.622P_

t

Mass flow ratio of NH, in comparison to Freon-12 for the same refrigeration load and same
temperature limits is of the order of

(A) 1:1 @0 (C) 9:1 D) 1:3
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172. On the pressure-enthalpy diagram, condensation and desuperheating is replaced by a horizontal
line because the process

(A) Involves no change in volume

(B) Takes place at constant temperature
(C) Takes place at constant entropy
.Takes place at constant pressure

173. The C.O.P. of the refrigeration cycle with increase in evaporator temperature, keeping condenser
temperature constant, will

.Increase (B) Decrease
(C) Remains unaffected (D) Unpredictable

174. Spray humidifying is the process of adding moisture to the air by passing it through
(A) Chiller (B) Air-conditioning plant
.Washers (D) None of the above

175. Boiling temperature of Fr-12 is
(A)-33.33°C B)-785°C
@-298°C (D) — 40.7° C

176. A slotted head screw is torqued to 4 Nm using a screw driver having a blade of 5 mm width. The
couple force exerted by the blade edges on the screw slot is

(A)40N @)soo N
(C)400 N (D) 100 N
177. The ratio of normal stress of each face of a solid cube to volumetric strain is called
(A) Poisson’s ratio .bulk modulus
(C) modulus of rigidity (D) modulus of elasticity

178. A rod of length () tapers uniformly from a diameter D, to a diameter D, and carries an axial
tensile load P. The extension of the rod would be

(A) nPL . 4PL
4ED, D, nED\D,
nEL 4PEL
© = ®)
172 TCD1D2

179. A simply supported beam of span (I) carries a point load (W) at the centre of the beam. The
bending moment diagram will be a

(A) parabola with maximum ordinate at the centre of the beam
(B) parabola with maximum ordinate at one end of the beam
.triangle with maximum ordinate at the centre of the beam

(D) triangle with maximum ordinate at one end of the beam.
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180.

181.

182.

183.

184.

185.

186.

A simply supported beam carries a uniformly distributed load of w N per unit length over the
whole span (1), the bending moment at the supported ends will be

wl wi?
(A) > (B) 3
©) le .zero

Under tensile test, a test piece of a material is having 40% elongation whereas another test piece
of the same dimension but of different material is having 25% elongation. Then the ductility of the
first material as compared to that of second material is

(A) Less (B) Same
.More (D) None of the above

3
The expression Eld—i’ at a section of a member represents
dx

.shear force (B) rate of loading
(C) bending moment (D) slope

If the deflection at the free end of a uniformly loaded cantilever beam of length 1 m is equal to
7.5 mm, then the slope at the free end is

(A) 0.015 radians
.0.01 radians
(C) 0.02 radians
(D) 0.03 radians

Every cross-section of a shaft, which is subjected to a twisting moment, is under
(A) compressive stress .shear stress

(C) tensile stress (D) bending stress

Polar moment of inertia of a hollow circular shaft is equal to

A) TP’ —dP) n[D* —d*]

@ 32 @ 32

©) nD’ -d?] ) n[D* —d*]
64 64

Choose the correct statement
(A) Shafts of the same material and length having the same polar modulus have the same strength.

(B) For a shaft of a given material, the magnitude of polar modulus is a measure of its strength in
resisting torsion.

(C) From a number of shafts of the same length and material, the shaft with greatest polar modulus
will resist the maximum twisting moment.

.All of the above.
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187.

188.

189.

190.

191.

192.

193.

The hoop stress in case of thick cylinders

(A) is uniformly distributed

(B) varies from maximum at the outer circumference to minimum at inner circumference
.Varies from maximum at the inner circumference to minimum at outer circumference
(D) None of the above

The maximum axial compressive load which a column can take without failure by lateral deflection
is called

(A) critical load (B) buckling load
(C) crippling load .any one of the above

Slenderness ratio is defined as the ratio of

(A) equivalent length of the column to the minimum radius of gyration
.length of the column to the minimum radius of gyration

(C) length of the column to the area of cross-section of the column

(D) minimum radius of gyration to the area of cross-section of the column

Two identical springs labelled as 1 and 2 are arranged in series and subjected to force F as shown

in Fig. 3
g @ F ©) E
Fig 3
Assume that each spring constant is k. The strain energy stored in spring 1 is
Fz FZ FZ F2
A)— (B) — — D) —
2k 4k . 8k 16k

The principal stresses 6, 6, and c, at a point respectively are 80 MPa, 30 MPa and — 40 MPa. The
maximum shear stress is

(A) 25 MPa (B) 35 MPa
(C) 55 MPa @)oo mpa

If the diameter of a long column is reduced by 20%, the percentage of reduction in Euler’s buckling
load is

(A) 4 (B) 36

(C) 49 @9

In a perfectly elastic collision

.Both Linear momentum and K.E. are conserved
(B) Only momentum is conserved

(C) Only K.E. is conserved

(D) None of the above
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194.

195.

196.

197.

198.

199.

200.

201.

A man jumps 2 m on the surface of earth. How high he will jump on a planet whose radius is 64 km
and mean density same as that of the earth?

@200 m (B) 400 m
O1m (D) None of the above

The number of instantaneous centres for 8-link kinematic chain is
(A)8 (B) 16

(C) 24 @):s

The law of conservation of linear momentum can be derived from
(A) Newton’s first law

(B) Newton’s second law

.Newton’s third law

(D) None of the above

A body moves through a distance of 8 metres under the action of a force of 10 Newton. The gain in
kinetic energy is

@30 (B)40J
©)1204J (D) None of the above

A man can throw a ball upto a maximum height of x metres. The maximum distance he can throw
the ball on the horizontal plane is

.Zx metres (B) x metres
(C) 3x metres (D) None of the above

The bar AB weighs 10 kg per meter and is supported by cable AC and a pin at B. Reaction at B is
(take g = 10 m/s?)

(A) 200 N, vertical

.200 N, at 30° to horizontal

(C) 100 N, vertical

(D) 100 N, at 60° to horizontal

For a redundant frame, the number of members (m) and the number of joints (j) are related as
(A) m =2j B)m<2j-3
(C)m=2j-3 @ >2i-3

Which of the following is an analytical method for finding out forces in a frame?
(A) Method of pins

(B) Method of frames

.Method of joints

(D) Method of hinges
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202.

203.

204.

20sS.

206.

207.

208.

209.

210.

When two elements of a pair are connected such that, they can only turn about a fixed axis of
another element, they are called

.a turning pair (B) a spherical pair
(C) a screw pair (D) a sliding pair

Which one of the following is a higher pair?
(A) Turning pair (B) Screw pair
(C) Sliding pair @seit and pulley

Which of the following would constitute a link?
(A) Piston, piston rings and gudgeon pin

(B) Piston rod and cross head

(C) Piston, crankpin and crankshaft
.Piston, piston rod and cross head

Oldham’s coupling is the

(A) Second inversion of double slider crank chain
.Third inversion of double slider crank chain
(C) Second inversion of single slider crank chain

(D) Third inversion of slider crank chain

In an involute gear, normal to the involute is tangent to the
(A) Pitch circle .Base circle
(C) Addendum circle (D) Dedendum circle

For non-parallel non-intersecting shafts power can be transmitted with the help of
(A) Pair of helical gear (B) Pair of spur gear
.Pair of spiral gear (D) Oldham coupling

Helical gears have their teeth
(A) Straight over the wheel rim
.Inclined to the wheel rim
(C) Curved over the wheel rim

(D) Cut on the surface of the frusta of cone
The height of a simple watt governor is proportional to , where N is the speed.

.N (B) 1/N (C) N? (D) 1/N?

Which of the following governors is also known as dead weight type governor?
.Porter governor (B) Watt governor

(C) Hartnell governor (D) Pickering governor
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211. Partial balancing in locomotives results in:
(A) hammer blow
(B) variation of tractive effort
(C) swaying couple

.All of the above

212. Isotropic materials are those which have the same
.Elastic properties in all directions
(B) Stresses induced in all directions
(C) Thermal properties in all directions
(D) Density throughout

213. Delta iron occurs in the temperature range
(A) Between 400°C and 600°C
(B) Between 600°C and 900°C
(C) Between 900°C and 1400°C
@)Between 1400°C and 1539°C

214. What is the relation between stress and strain, as material behaves elastically?
(A) Stress is inversely proportional to Strain
(B) Stress is inversely proportional to square of Strain
.Stress is directly proportional to Strain
(D) Stress is directly proportional to square of Strain

215. In a compression test, the fracture in cast iron specimen would occur along
.An oblique plane
(B) The axis of load
(C) Perpendicular to the axis of load
(D) Would not occur

216. Mohr’s circle can be used to determine the following stress on inclined surface
(A) Principal stress (B) Normal stress
(C) Tangential stress .All of the above

217. During the impact loading the stress developed as compared to gradually applied load is
(A) 1.5 times @): times (C) 2.5 times (D) 3 times

218. Maximum shear stress in a Mohr’s circle is
.Equal to radius of Mohr’s circle
(B) Greater than radius of Mohr’s circle
(C) Less than radius of Mohr’s circle
(D) None of the above
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219.

220.

221.

222.

223.

224.

225.

226.

227.

Which of the following welding processes uses non-consumable electrode?

(A) LASER welding (B) MIG welding
@ 11G welding (D) Plasma welding
Arc stability is better with

(A) AC welding @)oc welding

(C) Both AC and DC welding (D) Rectified supply

Forge welding is best suited for
(A) Stainless steel

(B) High carbon steel

(C) Cast iron

.Wrought iron

In arc welding operations, the current value is decided by
(A) Thickness of plate

(B) Length of welded portion

(C) Voltage across the arc

.Size of the electrode

is a widely used flux in the brazing process
(A) NaCl @) Borax
(C) Slag (D) Lead

If V is the volume of metal in a casting and A is its surface area, then time of solidification will be

proportional to

(A) V/IA (B) V/A?
(©) VYA @V A
Undercutting is the operation of cutting

(A) Below the specified zone

(B) A deep grove

(C) A spiral

.A grove next to shoulder

The angle between the lathe centres in degrees is

&0 (B) 30 (C) 45 (D) 15
In electro-discharge machining, the tool is made of

(A) Tungsten carbide

.Brass or copper

(C) Properly heated alloy steel
(D) Stainless steel
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228.

229.

230.

231.

232,

233.

234.

Ultrasonic machining removes material by

(A) Direct vibration of tool with workpiece

.Using abrasive slurry between tool and work

(C) Vibrating air in the vicinity of tool and workpiece and making no contact
(D) All of the above

Best coolant and lubricant for brass, copper, bronze and monel metal is
(A) Water, soluble oils or sulphur-based mineral oils
(B) Mineral and fatty oils

@ soluble oil

(D) None of the above

CMM stands for

(A) Centre marker machine

(B) Central geometry measuring machine
(C) Centroid measuring machine

.Coordinate measuring machine

is concerned with the time required to perform each activity under the Production
Planning and Control Process.

(A) Loading (B) Sequencing
(C) Routing @)scheduling

Computer-integrated manufacturing is largely an automated manufacturing management of
integration of function such as

(A) CAD/CAM, robotics, material handling

.CAD/CAM, robotics, automated material handling and many other production functions
(C) It is just an extension of FMS manufacturing technology

(D) None of these

code is used in programming in absolute coordinates.
@c9o (B) G32 (C) G54 (D) G10

Which of the following characterizes the dispersion of the results obtained in a series of
measurements of the same value of a quantity measured?

(A) Absolute error
(B) Relative error
.Root mean square deviation

(D) Variation of indication
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235S.

236.

237.

238.

239.

240.

241.

242.

The taper of internal dovetail can be measured with the help of
(A) Sine bar

(B) Combination set

.Balls of standard dimensions and slip gauges

(D) Dial gauges

Basic shaft and basic hole are those whose upper deviation and lower deviation respectively are
(A) + ve, —ve

(B) — ve, + ve

(C) Minimum, maximum

.Zero, Zero

In interferometric methods, the path difference between one bright band and the next is varied by
(A) Half wavelength

.Two half wavelengths

(C) One quarter wavelength

(D) Two wavelengths

For grade I'T7, value of tolerance is equal to
(A) 7i (B) 10 @16 (D) 25i

Expressing a dimension as 18.3* ! mm is the case of
.Unilateral tolerance
(B) Bilateral tolerance

(C) Limiting dimensions

(D) All of the above

The property of a material which enables it to resist fracture due to high impact loads is known as
.Toughness (B) Endurance

(C) Strength (D) Elasticity

If a material fails below its yield point, failure would be due to
(A) Straining

.Fatigue

(C) Creep

(D) Sudden loading

Cold working

.Increases the fatigue strength

(B) Decreases the fatigue strength

(C) Has no influence on fatigue strength
(D) None of the above.
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243.

244.

245.

246.

247.

248.

249.

250.

251.

Form coefficient of spring is

(A) Ratio of coil diameter to wire diameter

(B) Load required to produce unit deflection
.Its capability of storing energy

(D) Concerned with the strength of wire of spring

A rivetted joint may fail due to

(A) Shearing of the rivet

(B) Tearing off the plate at an angle
(C) Crushing of rivet

.All of the above

Stretching in a belt can be controlled by
.Reducing stress in the belt

(B) Decreasing belt length

(C) Increasing centre distance

(D) Reducing belt velocity

The type of tooth profile used for gears in watches and clocks is
(A) Involute @) cycloidal
(C) Hypocycloid (D) Epicycloid

A simply supported beam, where the shear force is zero, the bending moment will be
(A) Zero .Maximum
(C) Minimum (D) None of the above

The maximum efficiency of a screw jack having square threads and friction angle of 30° will be

@33 (B) 11% (C) 20% (D) 30%
When a closed coiled helical spring is compressed, its wire is subjected to
.Tension (B) Shear

(C) Compression (D) All of the above

The deflection of a cantilever beam under load W is x. If its width is halved, then the deflection
under load W will be

(A) 2x (B) x/2 @+« (D) x/4

In the flange coupling, the two flanges are coupled together by means of bolts fitted in
.reamed holes (B) machined holes

(C) threaded holes (D) gasketed holes
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252.

253.

254.

255.

256.

257.

258.

259.

Most commercial compound dc¢ generator is normally supplied by manufacturers as over
compound machines because

.Degree of compounding can be adjusted by diverters across series field
(B) They have ideally best for HYDC

(C) Cost effective than shunt

(D) Zero percent regulation

In a salient pole synchronous motor, the developed reluctance torque attains the maximum value
when the load angle in electrical degrees is

(A) 0 @)+5 (C) 60 (D) 90

A 200V, 10 A motor could be rewound for 100 V, 20 A by using as many turns per coil of
wire, having the cross-sectional area.

(A) twice, half

(B) thrice, one-third

.half, twice

(D) four times, one-fourth

Ratio of the rotor reactance X to the rotor resistance R for a two-phase servomotor
(A) Is equal to that of a normal induction motor

.Is less than that of a normal induction motor

(C) Is greater than that of a normal induction motor

(D) May be less or greater than that of a normal induction motor

The average power delivered to an impedance (4 — j3) Q by a current Scos (100 rtt + 100) A is
(A) 442 W &0 w (C) 62.5W (D) 125 W

With which of the following, a circuit breaker must be equipped for remote operation?
(A) Inverse time trip
(B) Time-delay trip

.Shunt trip

(D) All of the above

A three-phase voltage source inverter with ideal devices operating in 180° conduction mode is

feeding a balanced star-connected resistive load. The DC voltage input is V. The peak of the
fundamental component of the phase voltage is

AV, /n @:v, (©)3V, /n D)4V, /n

When does the circuit breaker automatically operate in the line?
(A) Whenever the switch and the relay has to be operated

(B) When the line is to be tested

.Whenever the fault occurs in the line

(D) When power is to be supplied
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260. A three-phase induction motor has 4 poles and operates with a slip of 0.04 with 50 Hz supply for a
certain load. The speed of the rotor magnetic field with respect to stator is:

(A) 1440 rpm (B) 60 rpm
.1500 rpm (D) 0 rpm

261. In an induction motor, if the rotor is locked, then the rotor frequency of induction motor will be
.Equal to the supply frequency
(B) Less than the supply frequency
(C) More than the supply frequency

(D) Zero

262. The number of depletion layers in a transistor is .
@ 1o (B) Three
(C) Four (D) Five

263. What is the current through the Zener diode?
R,

MV
l le | 2
+ V1

_% 13V 1

(C) 8.3 mA
(D) 13 mA

264. In a bipolar junction transistor, the current gain 3
(A) increases exponentially with the increase in temperature
(B) decreases with the increase in temperature
.increases with the increase in temperature
(D) does not change with the change in temperature

265. Under low level injection assumption, the injected minority carrier current for an extrinsic
semiconductor is essentially the

.Diffusion current (B) Drift current
(C) Recombination current (D) Induced current

266. The slack on various events at critical path on a PERT/CPM chart
(A) Decreases continuously (B) Increases continuously
.Remains constant (D) Unpredictable
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267.

268.

269.

270.

271.

272.

273.

CPM is oriented to
(A) Time

(B) Cost
.Activity

(D) Objective

Slack represents the difference between the

(A) Proposed allowable time and the earliest expected time
(B) Normal allowable time and the latest expected time
(C) Latest allowable time and the normal expected time
.Latest allowable time and the earliest expected time

The activity with minimum should be crashed first.
.cost slope
(B) cost index
(C) crash cost

(D) normal cost

Simplex problem is considered as infeasible when
(A) All the variables in entering column are negative
(B) Variables in the basis are negative

.Artiﬁcial variable is present in basis

(D) Pivotal value is negative

If x is a decision variable of LPP and unrestricted in sign, then this variable can be converted into
x=x"—Xx" so as to solve the LPP by simplex method, where:

A)x’<0andx” >0
B)x’>0andx” <0
(O)x’andx” <0

.x’ and x” >0

Based on final table of simplex LPP is said to have alternate solution if in (Cj - Zj) row
(A) One or more basic variable has zero value

(B) Entering variable has negative coefficient

.Below a non-basic variable there is zero

(D) Optimum function value is zero

How many occupied cells must a transportation matrix with 8 rows and 7 columns have so that it
does not degenerate?

(A) 15 (B) 55

(C) 56 @14
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274. Vogel’s approximation method is connected with
(A) Assignment problem (B) Inventory problem
.Transportation problem (D) PERT

275. Queuing theory deals with the problem of
(A) Material handling
(B) Effective use of machines
.Reducing the waiting time

(D) Better utilization of man service

276. SIMO charts are used in
(A) Method study
.Micromotion study -
(C) Process analysis
(D) Layout analysis

277. In India, there is a for the establishment of work committee under the Industrial
Disputes Act, 1947

(A) Mandatory provision
.Statutory provision
(C) Laws

(D) Bylaws

278. The organization of all the constituent unions in a particular state refers to
(A) Plant-level federation
(B) Local-level federation
.Regional-level federation

(D) National-level federation

279. Most suitable method used for drilling boreholes in hard soils or soft rock strata is:
(A) Auger boring
.Percussion drilling
(O) Rotary drilling
(D) Wash boring

280. Undisturbed soil samples are required for:
.consolidation test
(B) specific gravity test
(C) shrinkage limit test
(D) hydrometer test
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281.

282.

283.

284.

285.

286.

287.

288.

The purpose of a Well Point System is
(A) Desilting

.Dewatering

(C) Resisting Soil Pressures

(D) Forming underwater foundation

The amount and location of boreholes depend mainly on the condition of the

(A) ground surface

(C) groundwater

(B) atmosphere
.subsoil condition

The information to be made available for certain heavy purchases through the newspaper is

called:
(A) Guideline
(C) Purchased notice

(B) Terms and conditions
.Tender Notice

A tender is a written information/invitation:

(A) sent to private institutions only

.sent to potential suppliers of goods & services

(C) sent to buyers for goods & services

(D) sent for govt. institutions only

Tenders should be written in a language that is

(A) stylish
(C) round about a lengthy

Depending upon the type of contract which of the following is not a type of tender?

(A) Item Rate Tender

(B) Percentage Rate Tender
.Selected Tender

(D) Lump sum Tender

.brief and to the point
(D) informal

Which of the following are included in tender documents?

(A) Tender Notice
(C) Conditions of Contract

(B) Tender Form

.All of the above

Identify the incorrect form of cash with respect to the modes of cash accepted in the Public Works

Department from the options given below:
(A) Cash Book
(C) Imprest

(B) Receipts
.Permanent Advance
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289.

290.

291.

292.

293.

294.

295S.

Which is the estimate that is conducted when additional works are done after completion of
original works?

(A) Cube Rate Estimate

(B) Materials Estimate

(C) Plinth Area Estimate
.Supplementary Estimate

In which type of contract, the contractors have to quote rate of each item of work without reference
to any schedule of rates?

.Item rate contract
(B) Percentage rate contract
(C) Schedule rate contract

(D) Lump sum contract

The person who takes lease is known as
(A) lease (B) lessor

C) lesser lessee
(

Unemployment arising due to mismatch between job availability in the market and skills of
available worker is called:

(A) Seasonal .Structural
(C) Economical (D) Frictional

What does PHEV stand for?

(A) Plug-in Hybrid Electronic Vehicles
.Plug-in Hybrid Electric Vehicles
(C) Plug-out Hybrid Electronic Vehicles
(D) Plug-out Hybrid Electric Vehicles

The Electrolyte for Lead Acid battery is
(A) Ammonium chloride

(B) Hydrochloric acid

(C) Sodium chloride

.Dilute sulfuric acid

The thermoelectric generator works on the principle
.Seebeck effect

(B) Thomson effect

(C) Peltier effect

(D) Joule effect
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296.

297.
298.

299.

300.

Use of internet to connect a wide variety of devices, machines and sensors for empowering brick
and mortar stores by giving them the same access to data that online stores have, is a facility falls
under which of the following technologies ?

(A) Artificial Intelligence
(B) Deep Learning

(C) Machine Learning

.Internet of Thing

An agent can improve its performance by

.Learning (B) Responding
(C) Observing (D) Perceiving

Revolving joint of the robot is referred to as
(A) L joint (B) O joint
(C) T joint @V joint

The following measures are carried out by internal state sensors of the end effector
(A) Position

(B) Position and Velocity

(C) Velocity and Acceleration

.Position, Velocity and Acceleration

8086 microprocessor has data lines and address lines.
(A) 16, 16
(B) 12,16

@16, 20

(D) 20, 16
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